BEIH
128 T/F 24 100.00%

TAEARDL

m1LA2R TR

THH BV BE B4tk
(V¥ (BEREMENHERE..
%) 2 8.33%
(Q)BUFERFT (EHRFEE ) 3 12.50%
()& (EFEAILRFILAKE 5
b~ El - BRNEED 6 25.00%
(4)FEE Fl i 12 50.00%
(7) H A GEREAR T —/EH) 14.17%

ERRRRIEE
2% s (B3 (EERE SRR
BN

= (2)BUFEFT (SHESEEAD

= (3VEE (RAEATLRILIIA
= e - B
&

)
= (A)FJE RIS

X

= (7)HAGEEREHRY T —RET)




1EE ISR 5 20.83%
27T 2 8.33%
22 H A EFT (GERHERFI 2R T —R 3 12.50%
3. EE 12 50.00%
5.0 8% /BE S AR 2 8.33%

%%

AT 2T

B

AR5 HIERFT

o

= LEEHGRE

= 2 {TEERF

= 22 =AM CRAAHER
FIATERY N —)

= 3R

= 5.07F%/FAS%EN T



HE IR BE Btk
1.2 7 29.17%
2.5 17 70.83%
EEEREEE
nl.F
n 2.5

1000
50
7-10
7-8

7-9

IR
13. 55 ~ B R RS 5E (M)

14.17%

16. A 3E(P)

4 16.67%

17 SRR Se it & TAEAREE(Q)

19 79.17%

e S bl

4%

= 1350 - BRI R R
M)
= 16, 5(P)

= 17 B ORE R E TAF
AR#55E(Q)



I
10.435 246,001 7T % 49,0007C

14.17%
13.493 2 1455,0017T 2 60,0001 14.17%
16.4931 2 1470,0017T % 75,0007T 14.17%
17 49372 1475,001 7T £80,0007T 14.17%
21.49%1 2 %495,0017T £ 100,0007T 9 37.50%
22.49%r2#£100,0017T £ 110,0007T 14.17%
23.431 = 1110,0017T % 120,0007T 2 8.33%
26.4)3#1=1140,0017T & 150,0007T 14.17%
29.49%12=%4190,0017T £ 210,0007T 14.17%
30.49%1 =#4210,001 T 0L 3 12.50%
9.4 31 Z=H543,001 7T £ 46,0007T 3 12.50%

g AWA

15N

n 1045 EH546,0017 122490007

134T EE 55,001 260,000 T

n 164 570,001 1427500071

m 174 FHEE75,001 1. 42800007 T

w214 e 95,0011 45100,0007 T
w 24 BHTER100,0015T- £ 110,0007T;
» 3411000157 42120,0007T;
m 264 e 140,001 5T 2 150,0007T
m 294 BT EE##190,001 7T 222100007T:
= 304 HrE 210001t

m 94 JHTEEIE43 001 7T 52460007T

24 100.00%

TAEFr R

. )

&




THE BETE BE [=pagsr
(10)E21Ei% 3 12.50%
(12)EZFEH% 14.17%
(18)fE#E % 14.17%
(5T A 14.17%
(8)aHh 18 75.00%

T b B
4%

.  (10)52{EHA
/“’ = (12055
= [T

= (5)¥r7TiA
= (8)EHTH




HHE i B Btk
HEB) 2 8.33%
IEFEAER 21 87.50%
| 14.17%

e s LIERRBIER

4%

= HEE)

s JEEHED

w

THH BETE BE Bk

1EFERE, ~ FIRE R 24 39.34%
2.2 17 [E 28 Rl AR 18 29.51%
3N ETSRIE 15 24.59%
7.2 B EAEEE) 3 4.92%
9. JE(EIHIT R B 1 1.64%

HILERARBN " 2EER

2%
w 1ESERIER - RIRE(ER
= 2 TR S KRR
= AN E L

= 7 2 H SRS E

= O JE(ER e EE B




HE BEIH BE Btk
18 BT T 17 23.94%
10. P55 S S RE 11.41%
11.5HHEE T 3 4.23%
2 EERERE T 14 19.72%
ARG EIRE ST 7 9.86%
A.EHXE1ERES) 34.23%
5. [ RE ST 17 23.94%
6.E81%T5E 5 7.04%
7. T4 - EEBAGFEEERET 2 2.82%
8. & sNFHY EHAE ST 11.41%
9.7hsERE ST 11.41%
},@%ﬂﬂg@ﬂ'ﬂﬁﬁ jj w LR RERE )
1% = 10 FE5SEIREE S RE )
39\ 1%
n 11.35?‘75}}%\%
m 2 FREEERE T
w 3 APEEBHAE T
w 5.FRERERRE T
= 6.8I1HEE
w 7. TR ~ BAERIFHE
13’—7} =
o s A s

= 9SNERET]

HH BETH BE Btk
1EERERS 18 26.87%
10.F5EIEE S RE ST 1 1.49%
1158545 1] 3 4.48%
2FFEEEEE S 12 17.91%
3 ABEEEIRES 10 14.93%
AFHXEERES] 2 2.99%
5. B RE 18 26.87%
6.AI¥TAE 2 2.99%
7. TAEGCHE ~ BRI EHEEN 1 1.49%




A EBIRIRES]

3%

%

A

=

2%

3%

» LEIBRERT

= 10 B5CHIBEL A RE T
= 115524

= 2 FHEEERE T

" 3 AR EERE

" 4. BRETERE

= 5. [ REAEE

= 6.81TRE

= 7. TF&CHE ~ RAERUR
HEHERETT

HE HBETE BE Bk
1LEEERT 2 8.33%
17. B2 g A4 B2 PY 7 29.17%
2435 HEEE R 10 41.67%
7.3 R B ERF 4 16.67%
9.k m L ELEEPY 14.17%
o | AR
= LEHEPY

)

= 17 B3EE AR
= 249 HIEETRK
= 7.5 REHERR

w 9.4 Ap Rl EZERFY

LERLE > IREHIE 2 GRER T~ —

i) 23 95.83%
2.E 5 ¥ > (HEERRILE R 14.17%




TRtttk E At

4%

= LEELSE - IRESHRIE
TEEEER N —E)
= 2. B - (SRS

2kt
!!III IIIIIIIIIIIIIIIIIIII
SR
& o 2R
SIGEY i
SN &
BT & PR
i R S SR R A TR A
Rk
B T A
ERE
KA
eSS
TCHS:
Wk
MEESS e
Wik
eSS
Wik
IEESS e
omET |
SN e
SN e
SN e
S




